

$$V(t) = A^{\frac{1}{1-\alpha}} \cdot d^{\frac{\alpha}{1-\alpha}} \underbrace{\left(\frac{1-\alpha}{\alpha} \right)}_{\pi} \int_t^{\infty} e^{-\tilde{r}(t,w)(w-t)} dw \rightarrow \frac{dV(t)}{dt} = \pi \cdot \frac{\partial}{\partial t} \int_t^{\infty} \text{EXP} \left\{ -\left(\frac{\alpha}{1-\alpha} \right) \cdot \int_t^{\infty} \tilde{r}(w) dw \right\}$$

Utility: $\frac{\partial}{\partial t} \int_{\tilde{r}(t)}^{\infty} g(t, w) dw = \dot{\tilde{r}}(t) g(t, \tilde{r}(t)) - \tilde{r}'(t) g(t, \tilde{r}(t)) + \int_{\tilde{r}(t)}^{\infty} \frac{\partial}{\partial t} g(t, w) dw$

Define: $\tilde{r}(t) = t \rightarrow \dot{\tilde{r}}(t) = 1$
 " $\tilde{r}(t) = \infty$ " $\rightarrow \dot{\tilde{r}}(t) = 0$
 $g(t, \infty) = \text{EXP} \left\{ - \int_t^{\infty} \tilde{r}(w) dw \right\}$

Hence: $\frac{\partial}{\partial t} \int_t^{\infty} \text{EXP} \left\{ - \int_t^{\infty} \tilde{r}(w) dw \right\} dt = 0 - 1 \cdot \text{EXP} \left\{ - \int_t^{\infty} \tilde{r}(w) dw \right\} + \int_t^{\infty} \frac{\partial}{\partial t} \text{EXP} \left\{ - \int_t^{\infty} \tilde{r}(w) dw \right\}$

$\underbrace{\hspace{10em}}_{=1}$ $\underbrace{\hspace{10em}}_{\text{See [*]}}$

Apply Leibnitz again because: $\frac{\partial}{\partial t} \text{EXP} \left\{ - \int_t^{\infty} \tilde{r}(w) dw \right\} = \frac{\partial}{\partial t} \left[- \int_t^{\infty} \tilde{r}(w) dw \right] \cdot \text{EXP} \left\{ - \int_t^{\infty} \tilde{r}(w) dw \right\}$

$$\frac{\partial}{\partial t} \left[- \int_t^{\infty} \tilde{r}(w) dw \right] = \dot{\tilde{r}}(t) g(t, \tilde{r}(t)) - \tilde{r}'(t) g(t, \tilde{r}(t)) + \int_{\tilde{r}(t)}^{\infty} \frac{\partial}{\partial t} g(t, w) dw$$

with $\dot{\tilde{r}}(t) = 1 \rightarrow \dot{\tilde{r}}(t) = 1$; $\tilde{r}'(t) = 0 \rightarrow \tilde{r}'(t) = 0$; $g(t, w) = \hat{g}(w) = V(w)$